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+ Rest2,3

⇡ 1.08231 + Rest2,3

|Rest2,3|  7

24(3)8
= 0.0000444546 .

(23)(p=2,N=10) N = 10

N

1X

1

1

n4
=

10X

n=1

1

n4
+

1

3(103)
� 1

2(104)
+

1

3(105)
� 1

6(107)
+ Rest2,10

⇡ 1.08232 + Rest2,10

|Rest2,10| ⇡ 2.916666... · 10�9 .

1X

1

1

n4
=

⇡4

90

1X

1

1

n4
=

⇡4

90
⇡ 1.08232

(p = 2, N = 3)
1X

1

1

n4
⇡ 1.08231 + Rest2,3

(p = 2, N = 10)
1X

1

1

n4
⇡ 1.08232 + Rest2,10

N p



1X

n=1

1

n2

1X

n=1

1

n4
.

N p

N




